&R

R E AR R
W R4 AT, RS RRK, RKEENERE.

K
Hxtsh M
—
[a]
- (- J ®
T c
B s
A-E
H3dih M K
\ —\
—+—— 1—-"—91—+—-—— -1+t — }» w
—( M
—/ / o
£ L c
B S E
A
ITHIR S T f 1 K= - B R~T%751 - (3 prdeeill - D ET KR
BAAD - 1007 - 1 - F
s FBRY BA | W | B
= R EE 3 ik Rl | R | B | IERE
y 3Rl
0zs n«%’i‘l 835.1.1 0 kR wE | S M A B c|p | E F | H | kK | B8 | &2 2 °C
(mfs) |(17%2) Nm | Nm Kg
1007 1 4 7 M10x1.0 | 70.6 55 43 3 86 | 86 | 127 3 6 12400 50
1210 1 4 10 M12x1.0 | 85.5 64 52 3 9.5 103 | 14 4 10 19000 70
1 4 80
1410M 10 M14x1.5 84 66 | 578 | 4 8 11 19 6 20 22000
3 1 150
1 4 80
1410 10 M14x1.5 105 84 72 4 11 12 19 6 20 25000
3 1 150
1 4 80
1412 12 M14x1.5 102 79 67 4 11 12 19 6 22 25000
3 1 190
1 4 80
1415 15 M14x1.5 110 84 72 4 11 12 19 6 23 28000
3 1 190
1 4 90
1612 12 M16x1.5 | 102 9 67 4 11 12 19 6 22 | 28000
3 1 200
1620 ! ! 20 M16x1.5 | 129 98 86 4 11 12 19 6 25 | 30000 100
E— x1.
BAAD 3 |f (Eﬁfggﬁfs*) 1 220 | -45~+80
1 4 200
2016M 16 M20x1.5 | 127.8 | 96 80 4 158 | 178 | 26 8 28 31000
3 1 290
1 4 220
2016 16 M20x1.5 | 148.8 | 117 | 101 6 158 | 17.8 | 26 8 28 35000
3 1 320
1 4 300
2020 20 M20x1.5 | 139.3 | 103.5 | 87.5 6 158 | 17.8 | 26 8 40 | 42000
3 1 390
1 4 350
2025 25 M20x1.5 | 157.8 | 117 | 101 6 158 | 17.8 | 26 8 45 45000
3 1 455
1 4 400
2525 25 M25x1.5 | 163 |118.5| 103 6 [195| 22 32 10 85 | 54000
3 1 620
1 4 400
2530 30 M25x1.5 | 168 |118.5| 103 8 195 22 32 10 95 | 60000
3 1 720
2725 1 4 25 M27x1.5 | 155.5| 111 | 91.8 8 195 | 22 32 10 85 70000 500

1110 EE T RARES B RSB SN www.ant—fa.com



